

5/24/01


Bill Gates
Problem Set 3

Economics 202
Due:  May 27, 2001

The following four questions are practice questions for the second quiz.  The second quiz will cover the macroeconomics material at this level of detail (no microeconomics).  However, the topics covered on this problem set may not be exhaustive (i.e., we have covered some topics that are not incorporated into this problem set but are fair game for the quiz- such as price and GDP indices).  Use this problem set to test your understanding of the material covered in the problem set and to gauge the level of detail to which you should study the remaining material.  Use this problem set as a study aid.  You do not need to hand the problem set in for grading (I don’t think I need to grade it to be sure you have all worked on it).  Answers will be posted soon.

1.
Following an increase in the demand for money, an open economy is experiencing a significant increase in real interest rates relative to the rest of the world. 

a.
Explain how this increase in interest rates affects each of the following for the country.

i.
Investment 

ii.
The international value of its currency 

iii.
Exports

b.
Using a correctly labeled aggregate demand and aggregate supply diagram, show how the change in investment you identified in part (a) will affect each of the following in the short run. 

i.
Output 

ii.
The price level

c.
Identify one fiscal policy action that could counter the effects identified in part (b). Explain how this policy will affect each of the following. 

i.
Output 

ii.
The price level 

iii.
Nominal interest rates 

d.
Identify one monetary policy action that could counter the effects identified in part (b). Using a correctly labeled money market graph, show how this policy will affect each of the following.

i.
Output 

ii.
The price level 

iii.
Nominal interest rates 

2.
Assume that an economy is at full employment.

a.
Explain how an increase in net investment will affect each of the following.

i.
Aggregate demand 

ii.
Capital stock 

iii.
Price level 

iv.
Output

b.
Explain how increasing net investment affects the country's long run aggregate supply.

3.
Assume an economy is in a recession. 

a.
Identify one monetary policy action and one fiscal policy action that could be used to help the economy out of the recession.  Explain the effect of each policy on the price level and the equilibrium level of output.

b.
Given your answer in part (a) on the price level effect, explain the effect the policy actions you identified in part (a) would have on the economy’s imports and its exports.

c.
Given your answer in part (a) on the output effect, explain the effect the policy actions you identified in part (a) would have on the economy’s imports and its exports.

4.
a.
Explain the short-run effect of a 5 percent increase in the money supply on each of the following.

i.
The real interest rate 

ii.
Output 

iii.
The price level 

In Country X investment is only slightly responsive to changes in the real interest rate, while money demand is quite responsive to changes in the real interest rate.  In Country Y investment is very responsive to changes in the real interest rate, while money demand is only slightly responsive to changes in the real interest rate.

b.
Draw a graph showing the relationship between the real interest rate and the demand for money for each of the following.

i.
Country X 

ii.
Country Y 

c.
Draw a graph showing the relationship between the real interest rate and the demand for investment for each of the following.

i.
Country X 

ii.
Country Y 

d.
Based on your answers to parts (a) through (c), in which country will the change in the real interest rate be greater? Explain why.

e.
Based on your answers to parts (a) through (c), in which country will the change in output be greater? Explain why.

f.
In which of these countries do conditions more closely reflect the monetarists’ view of the economy?  The Keynesian view?
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